Assembly Instructions

Bolt M6*15mm  20pcs Bolt M6%25mm  lpc Bolt M6*35mm  8pcs her  29p Allen Key  lpc
A B C D
2 PCS 2 PCS 2 PCS 4 PCS 2 PCS
F G H
u <j
2 PCs 1 PC 1 PC 1 PC
J

1/3




Stepd:

2/3




Assembly Instructions

O @ - @ —

Bolt M6*%15mm 4pcs Bolt M6%2bmm 1pc Washer 5pcs Allen Key 1pc

G H I

T’
1PC 1PC 1PC 1PC
Stepl: Step?2: 5
G

Stepd:

3/3




